Name ___________KEY_________________

 



Lab 14 : Experimenting with Abstract Classes

3.6 What error was generated?

	 ----jGRASP exec: javac -g E:\CS239\Lab14\TwoPartMeasure.java
 TwoPartMeasure.java:132: missing method body, or declare abstract
    protected  void initializeUnits();
                    ^
 1 error
 ----jGRASP wedge2: exit code for process is 1.
 ----jGRASP: operation complete.
	5




3.8.  Why does this class compile even though it has a method with a missing method body?

	Because it is an abstract class and it expects the subclass that

extends it to implement the abstract method
	5




3.11. What error was generated?

	----jGRASP exec: javac -g E:\CS239\Lab14\TwoPartMeasure.java
 
  TwoPartMeasure.java:67: cannot find symbol
 symbol  : method initializeUnits()
 location: class TwoPartMeasure
 initializeUnits();
         ^
 1 error
 
  ----jGRASP wedge2: exit code for process is 1.
  ----jGRASP: operation complete.
	5




3.15. What error was generated and why?

	----jGRASP exec: javac -g E:\CS239\Lab14\Driver0.java
 
  Driver0.java:20: TwoPartMeasure is abstract; cannot be instantiated
 measure = new TwoPartMeasure();
                   ^
 1 error
 
  ----jGRASP wedge2: exit code for process is 1.
  ----jGRASP: operation complete.
	5



	You can not create an object of an abstract class (i.e. you can NOT

Instantiate an abstract class).
	5


3.16. Why doesn't the declaration of the measure variable generate a compile-time error?

	Because declaring a variable just assigns the name a location.

	5




4.2.  Is this class "concrete"?  Why or why not?

	Yes because 
	5



	   It has no abstract methods  AND

   It is not declared to be abstract
	5


4.5.  What output was generated?

	
ÏÏ ----jGRASP exec: java Driver1
 
 Age 12: 
   Mike: 5 feet  5 inches
   Bill: 5 feet  5 inches
     ==   SAME    ==
 
 
 Age 16: 
   Mike: 5 feet  5 inches
   Bill: 5 feet  9 inches
     == DIFFERENT ==
 
 
 Age 20: 
   Mike: 6 feet  6 inches
   Bill: 6 feet  7 inches
     == DIFFERENT ==
 
 
 Age 70: 
   Mike: 6 feet  6 inches
   Bill: 6 feet  6 inches
     ==   SAME    ==
 
 
 
Ï ----jGRASP: operation complete.
	5




4.6.  Is this output correct?

	Yes
	5


4.9.  What error was generated?

	  «Ï ----jGRASP exec: javac E:\CS239\Lab14\Length.java
 
  Length.java:10: Length is not abstract and does not override abstract method initializeUnits() in TwoPartMeasure
 public class Length extends TwoPartMeasure
        ^
 1 error
 
     ----jGRASP wedge2: exit code for process is 1.
ÏÏ©Ï ----jGRASP: operation complete.
	5




4.12. What code did you have in your implementation?       [Copy and paste your code here.]

	/** 
 * A weight in traditional U.S. units (i.e. pounds and ounces)
 *
 *  This version extends the abstract TwoPartMeasure class that
 *  implements most behaviors
 *
 *  @author Prof. Liz Adams, James Madison University
 *  @version 1.0   - at suggestion of Prof. David Bernstein
 */

	5 
For 

javadocs



	public class Weight extends TwoPartMeasure
{
    /**

  *  Default Constructor
	1



	
  */
    public Weight ()

 {

    super (0,0,true);

 }
  
	1



	
 /**

  * Explicit Value Constructor

  *

  * @param pounds  The number of pounds (must be positive)

  * @param inches  The number of ounces (must be positive)
     */

	

	
  public Weight (int pounds, int ounces)

  {

     super (pounds, ounces, true);

  }
	5



	 

  /** 

   * Explicit Value Constructor


*


* @param pounds  The number of pounds (must be positive)


* @param ounces  The number of ounces (must be positive)


* @param positive true for a positive number


*/

	

	

public Weight (int pounds, int ounces, boolean positive)


{


   super (pounds, ounces, positive);

   }



	5



	

/**


 * Initialize the "constants" used by a TwoPartMeasure


 */
	

	

 protected void initializeUnits()


 {


   smallsPerLarge = 16;



largeUnitsSingular = "pound";



largeUnitsPlural = "pounds";






smallUnitsSingular = "ounce";

      smallUnitsPlural   = "ounces";
	6

(1 per line)



	 
   }
}

	


5.3.  Why doesn't the expression myLength.equals(myWeight) generate a compile-time error?

	Because they are both TwoPartMeasure objects
	5


5.5.  What output is generated?

	 Ï«Ï ----jGRASP exec: java Driver2
 
 Length
   Expected: 2 feet  1 inch
   Actual:   2 feet  1 inch
 Weight
   Expected: 1 pound  9 ounces
   Actual:   1 pound  9 ounces
 An Unusual Comparison
   The weight equals the length
 
ÏÏ©Ï ----jGRASP: operation complete.

	5



5.6.  Why does the weight equal the length in the example above?

      (Note: We will see how this "problem" can be fixed later in the semester.)

	Because 2*12+1 = 25 and 1*16+9 = 25


	5




6.3.  Did it execute correctly?

	Yes!  But it needs to be run from the command line for <ctrl>-z to work
	5


6.6.  Why didn't it compile?

	Ï «Ï ----jGRASP exec: javac E:\CS239\Lab14\DatabaseDriver2.java
 
 DatabaseDriver2.java:21: cannot find symbol
 symbol  : class WeightDatabase
 location: class DatabaseDriver2
        WeightDatabase          database;
        ^
 DatabaseDriver2.java:26: cannot find symbol
 symbol  : class WeightDatabase
 location: class DatabaseDriver2
        database = new WeightDatabase();
                       ^
 2 errors
 
  ----jGRASP wedge2: exit code for process is 1.
ÏÏ©Ï ----jGRASP: operation complete.
Because there is no WeightDatabase class


	Points just for doing it

Regardless of answer
ÏÏÏÏ
 ----jGRASP exec: javac E:\CS239\Lab14\DatabaseDriver2a.java
 
 DatabaseDriver2a.java:32: add(java.lang.String,Length) in LengthDatabase cannot be applied to (java.lang.String,Weight)
        database.add("Mike", aWeight);
                ^
 DatabaseDriver2a.java:35: add(java.lang.String,Length) in LengthDatabase cannot be applied to (java.lang.String,Weight)
        database.add("Bill", aWeight);
                ^
 DatabaseDriver2a.java:38: add(java.lang.String,Length) in LengthDatabase cannot be applied to (java.lang.String,Weight)
        database.add("Nancy", aWeight);
                ^
 DatabaseDriver2a.java:47: incompatible types
 found   : Length
 required: Weight
           result = database.get(name);
                                ^
 4 errors
 
  ----jGRASP wedge2: exit code for process is 1.
  ----jGRASP: operation complete.
Here's what is produced…

The second formal parameter of the add() method is a Length and because the get() method returns a Length  (from David)



6.10. What error was generated?

	 Ï«Ï ----jGRASP exec: javac E:\CS239\Lab14\DatabaseDriver1.java
 
 DatabaseDriver1.java:26: cannot find symbol
 symbol  : class MeasurmentDatabase
 location: class DatabaseDriver1
        myMeasurement = new MeasurmentDatabase();
                            ^
 1 error
 
  ----jGRASP wedge2: exit code for process is 1.
ÏÏ©Ï ----jGRASP: operation complete.


	 Ï«Ï ----jGRASP exec: javac E:\CS239\Lab14\DatabaseDriver1a.java
ÏÏ§Ï
Ï¼§ÏDatabaseDriver1a.java:47: incompatible types
ÏÏ§Ïfound   : TwoPartMeasure
ÏÏ§Ïrequired: Length
ÏÏ§Ï          result = database.get(name);
ÏÏ§Ï                               ^
ÏÏ§Ï1 error
ÏÏ§Ï
ÏÏ§Ï ----jGRASP wedge2: exit code for process is 1.
ÏÏ©Ï ----jGRASP: operation complete.

	


6.12. What changes did you make? [Copy and paste your code here.]

	

	     result = (Length) database.get(name);

     result  = (Weight) database.get(name);
 
	


